COMPONENTS PRODUCT INFORMATION JAE

RoHS Compliant

Drawing when DW2 is mounted Receptacle (DW2R002ZH1) Plug (DW2P002ZH1)

<<QOut Line>>

The DW2 Series is a rack and panel connector with 2 contacts for high-current (200A). It
enables the connection of the 2 contacts for power supply and 20 contacts for signal at once.
The DW2 Series is suitable for use in a wide range of applications such as storage battery
systems, power supply systems, UPS, and other power supply control equipments.

The DW2 Series is a UL recognized product.

Features

BUL Recognized Product: File No.E67741 m ESignal connector can be attached to the main

BHigh-current: compatible with 200A unit using an exclusive jig.

ESignal area has a 2-point contacting structure

BElectrical Shock Prevention: structure that
contact.

prevents a person's fingers from touching
the terminals on receptacle side. BConnection of receptacle side power supply

mFloating Amount:==2.75mm can be made at once using the bus bar.

BRobust housing integrating complex
power supply and signal area.

General Specifications

ENo. of Contacts: mContact Resistance:
2 pos. (power supply) 0.2mQ max. (initial) power supply
20 pos. (signal) 20mQ max. (initial) signal

ERated Current: EDurability: 100 times
200A (power supply) BOperating Temperature:
2A (signal) -25 Deg. C ~ +115Deg. C

BRated Voltage : BWire Size: 22AWG, twisted wire with insulation
600V (power supply) * Note 1 cover outer diameter 1.5mm Dia. (signal)
100V (signal)

Note 1: Please contact us when considering use in usage environments that exceed 600V.

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 1/15



MB-0266-3

Ordering Information

Connector Main Unit

DW2RO002ZH1

Series Modification Code
Plating of Contact Area
H: Ag plating
Connector Type :
R: Receptacle Connection Type
P: Plug Z: Others

No. of Contacts
002: 2 pos. (shown in 3 digit)

Connector for Signal (Plug Side Housing)

DW2PO020

Series
Connector Type No. of Contacts
P: Plug 020: 20 pos. (shown in 3 digit)

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 2/15



MB-0266-3

Ordering Information

Connector for Signal (Receptacle Side Housing)

DW2RO010 1

Series Modification Code
Connector Type No. of Contacts
R: Receptacle 010: 10 pos. (shown in 3 digit)

Connector for Signal (Contact)

DW1S04K4F 1

Series TModification Code

Plating of Contact Area
F: Sn plating

Connection Type
S: Crimp, socket
P: Crimp, pin

Applicable Cable Size
4: 22AWG

No. of Contacts
04K: 4000 pcs.

Reel Part Number K: unit of 1000 pcs. (Note 1)

Note 1: An embossed reel contains 4,000 pcs.

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 3/15



MB-0266-3

Product Drawing

1. Receptacle (Main Unit)
Part Number DW2R002ZH1
SJ Drawing SJ112004

Figure with spacer

D253-50570

(84112009}
PART MO | ihrcluﬂl hole for M6 screw(Note?) Space that inserts INNER HOUSING
g8 o/ MELARAR ; Rl 2 S EMO 6
COMPANY LOGD | T ff 2Y3) (4) Space that inserts BUSBAR

| {Bath zides)
" / | FRA—=HAR (M)

P m / Busew
;' ; _“_i =
: | L‘E‘hﬁﬁé’ﬁmﬁi‘im
! EiE+
s 08 [ L 1221 =08 : ﬂﬂﬂ“"‘} a8
) ) \ L0 fo. diote) Bl et N
. ETEDF%EREHT VOLTAGE e R Eﬁ_;:L...-l-?‘J.E..
\ERRR EREE
Note 1. PRODUCTION LOT NUMBER AS INDI|CATED.
Note 2. TIGHTEN SCREW(M6) WITH 5. 2[N - m] £0. 3[N - m]
SIZE OF MALE SCREW RIDGE : ¢5.82~ ¢5.97
Note 3. DON'T PUT THE FOREIGN BODY WITHIN THIS RANGE.
E1. EEROBMRIZOw FNo. #F&SR
(50{ I;.IEﬂBER?DISPLAY EXAMPLE O v FEBSER=H))
L 4%FA (DAY)
A (10A8:0, 1FI X, 128 :Y) (MONTH OCT:0, NOV:X, DEC:Y)
& (FAERE) (YEAR LAST DIGIT ONLY)
%43&1-+ (PRODUCT CODE)
F2. FKERT (M6) #HfF LS5 2[N-m] 0. 3[N - m]
Wtk : ¢5.82~@5.97
E3. COHAICERMERITLN &,
4 .HEAR HOUS ING 2 |PBT COLOR: BLACK
3 HELICGAL EXTENSION SPRING 4 |STAINLESS STEEL =
2 |FLOATING CONTAGT 8 |COPPER ALLODY SILVER PLATING
1 |OUTER HOUSING 1 |PPS COLOR: BLACK
?:ZIH . D?SEI!IPII%H -Ia-ﬂ'n ETFRJ.&“L Hﬂli ?‘Flﬁ.ﬁﬁ?

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 4/15



MB-0266-3

2. Plug (Main Unit)

Part Number DW2P002ZH1
SJ Drawing SJ112005
L . D 5
o el e o A T Ke)

o
!

R bl @: B8O
! 20.4 +0.8 .
Height of BUSBAR
- 78\ %ﬁggexml'% I— 775:%'1—&){#[1@;3
LOT No. _ 53.6 +0.8

1.6 =0.8
RATED CURRENT/VOLTAGE Height of LOCATION PIN

N 8w kNo. . EROAEESS
EHREHR/EREE
L (55.2) ]
5.0 (Noted)

2-Through hole for M6 screw
(Note2)
MeFEEEIT GE2)

115.7 +0. 8\\ \\

Note 1. PRODUCTION LOT NUMBER AS INDICATED.

Note 2. TIGHTEN SCREW(M6) WITH 5.2[N - m] =0.3[N - m]
Note 3. TIGHTEN SCREW(M8) WITH 12.5[N - m]+0. 75[N * m]
Note 4. HOLE FOR CABLE UNITY BAND.

F1. BRO@EMRIZOy RN, 2F/T
thﬂr HEY!EER?DISPLM EXAMPLE o v FESFETH)
11
| T — %A (DAY)
AO0B:0, 118X 128:Y) (MONTH OCT:0, NOV:X, DEC:Y)
fH fEEE) (YEAR LAST DIGIT ONLY)
&85 2-+ (PRODUCT CODE)
F2. KEFT (MG) &{T L5 2[N-m]£0. 3[N - m]
3. BESZBLC M) #ET FL212.5[N - m] +0.75[N - m]
a4, y—JNEFEA FAR
6 |GASKET 1 |SILICON RUBBER COLOR: GREY
5 |SLEEVE 2 |BRASS -
4 |SPRING PIN 2 |STAINLESS STEEL -
3 |PIN CONTACT 2 |COPPER ALLOY SILVER PLATING
2 M8 HEXAGON NUT 4 |BRASS NICKEL PLATING
1 |OUTER HOUSING 1 |PPS COLOR: BLACK
ik % h i #® = ¥ H E
NO. DESCE [FTI0M aTyY. MATER | AL FINISH

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd.




MB-0266-3

3. Connector for Signal (Receptacle Side)

Part Number DW2P020
SJ Drawing SJ112006

LOT No_ Note. 2) D PARTS No DHRO1O1 MATING SIDE e
; I ﬂi {HOUS I NE- : I
i =y i — 1
T R
- g]dﬁﬁyﬂ_ ml  CONPANY L0GO
= BAAARA ]
y iy —
! T e
. CAVITY Mo
289 208 | “\FarEN /
DW2RO102 MATING SIDE /
Hous i nz-8)
Table-1
Contact Part No Size Quter Diameter | Remarks
DW1P04K4F1 Signal
(SJ111311) AWGH#22 D15 Contact
DW1P04K4F2 Detected
(SJ111312) AWGH22 $15 Contact

Note 1. CONTACTS ARE SOLD SEPARATELY.THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
Note 2. YEAR AND MONTH OF MANUFACTURED SHALL BE SHOWN AT THE LOCATION.
(LEFT:ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789XYZ)

F1. KUREFa20 ARG THY ., BRI VA7 FER1OEBYTHS.
F2 Erofu@EIc¥EER %ij"‘d’%
(Zf@ - BEIH. 44, 54 .EI 123456789XY7)
1 [INNER HOUSING 1 |PBT COLOR: BLACK
ne & B E m C | # E =
N DESCRIPTION [i] )} MATER IAL FINIEH REMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 6/15



MB-0266-3

4. Connector A for Signal (Plug Side)

Part Number DW2R0101
SJ Drawing SJ112007
POLARIZING KEY
EiEx— 3
LOT MARK
=R
8 PART Mo,
HOUSING Mo. [A] B
1472 TNo[A] \ CAVITY Mo
i ¥ COMPANY LOGO ™ P
o @m0
= . H
i ] N
. E—————————| i
- ,._E!éi;@-ﬂ_J
45
— |
I__j
— =1 | &
Table-1
Contact Part Mo Size Quter Diameter | Remarks
DW1S04K4F Signal
(541113100 RINGS22 ®15 Gc:s?aact

Note 1. CONTACTS ARE SOLD SEFARATELY. THE APFLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
Note 2. THE POSITION OF THE POLARITY KEY IS DIFFERENT COMPARED WITH THE FOLLOWING PARTS.

DW2R0102 (SJ112008)

1. ARREFIVEI7 FAERTHY ., BRIV F7 IR 1ODEEYTHS.
T2 AUNREATE@MBLBEF—UEELV\RTHS.

DW2R0102 (SJ112008)
1 [INNER HOUSING -A 1 |PET COLOR: BLACK
Be z B 5w &k w2
0 DESCRIPTION ary. WATERIAL FINISH RE

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd.

7/15



MB-0266-3

5. Connector B for Signal (Plug Side)

Part Number DW2R0102
SJ Drawing SJ112008

POLARIZING KEY
it —

LOT MARK

0y e
_B PART No
I-HJEJSW(} No. [I?E E‘-ﬁ_\ CAVITY Mo
25 FNalB] : CONPANY LOGD ™, & v ENo
—y — = o BT -,
H ¥ 5 s
J4agRaT . g
SRR = | §
L L o 36.4 +0.8
45
Table-1
Contact Part No Size Outer Diameter | Remarks
DW1S04K4F1 Signal
(SJ111310) AWG#H22 @15 Contact

Note 1. CONTACTS ARE SOLD SEPARATELY. THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.

Note 2. THE POSITION OF THE POLARITY KEY IS DIFFERENT COMPARED WITH THE FOLLOWING PARTS
DW2RO101 (SJ112007)

F1. FEREIo2ZY RIS THY., BRI FER1OEEYTHS,
2 AUSETRESRELEF—HEEVNSTHSD,
DWZRO101 (SJ112007)

1 |INNER HOUSING -B | 1 |PBT GOLOR: BLACK
74 £ B [ C H o # £k n
HO. DESCRIPTION 4Ty, MATER | AL FIHIEH REMARE S
JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 8/15



6. Spacer

Part Number

D253-50570

SJ Drawing

SJ112009

through hole for M6 screw

MB-0266-3

@24

5,
. NOTE. 3

-

= 1 NJ /— ‘ — ‘ i __\\"I '—Tl l/__ __\\II
. _; i y i i |. | i .¢_N
CAVITY No
Fv bl
P B ;ﬂ.lfu - _H\\
OO
oS )
O~
Oo0
NOTE 1. This product is an optional spacer of DW2R002/HT.
NOTE 2. Month of manufacture.
NOTE 3. Year of manufacture.
F 1. ARBEIIDW2RO02ZHIDRIFTFER N—HTH S,
F2. %i—‘ﬁﬁ% /N
3. HEE
1 [Spacer 1 |Zinc alloy E;gbeéﬂg$gﬁlng l
ﬁﬂq D?SDRIPTIII;! mtt i h e | R <
. MATERIAL FIRISH | REMARES

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 9/15



MB-0266-3

7. Socket Contact for Signal (for Plug)

Part Number DW1S04K4F1
SJ Drawing SJ111310

EEO T———

205 203

3.8 =037
185 £0.2
=
P=d
|
f —
t0. 25

11.85) NOTES

Il

[ .Y
Y

[

| x'r:-.. ] | MOTE 1. THESE CONTACTS ARE SUPPLIED PER REEL. THERE ARE 4,000 COMTACTS PER REEL
A e ——y el MNTE2. APPLICABLE MATING PIN : CI0. 64:£0. 05,
e T i e NOTE 3. APPLICABLE WIRE-AWGE22 (0. 3mm™2) INSHULATION OUTER DIAMETER: ¢ 1. 5(STRANDED)
| 5 r MOTE 4. PART NUMBER, GQUANTITY AS INDICATED
\\ i A NOTES  YEAR AMD MONTH OF MAMNUFACTURE SHALL BE SHMORM AT THE LOCATION
LY F A (LEFT :ONE LAST DIGIT OF YEAR. RIGHT:MONTH 123456739XYZ)
AN ':%\ _ [II . RS EX. " 107" —MANUFACTURED IN DEC. 2010
‘\\- . o o F
S { A 1. EILEY Y —LRTHEEN, D00[PC/Y—N]ETE,
o X2 WAELZENO0 640 05-T 3
~_ F4N -~ 3 EERENGEZ20 Jom 2) BN, BEAS O SOERET S,
R 4 BETROMB-RE. REFEALEBNSENBSATLS
5 BrotB-NEFARERRTS.
7 ‘“:L- 7 [ 3E00 | (E® - mEIT. H4FE. S8 - F123466789XYT)
incs el 2 ! e #0102 —MiEE A20104E128.
3 |SOCKET CONTACT 4000 [COPPER ALLOY TIN PLATE —
2 |PAPER TAPE 1 |PAPER — —
1 [MAGAZ INE 1 |PAPER —_— —_—
EEicd E] ) 8 = ) o it £ ] |
M. DESCRIPTION aTy. MATER | AL FINISH EEMARKS

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 10/15



MB-0266-3

8. Pin Contact L

ong for Signal (for Receptacle)

Part Number

DW1P04K4F1

SJ Drawing

SJ111311

8

s
iy

18 25

|
{ &
R pp——— I o

10 £0.2

(PICTH)

113,85 ]

e 9.16 +0.3 R 7
“ 205 +0.3 |

T

600
v
Il

¥

£
H
&

e

40

NS —

3 |PIN CONTACT 4000

NOTE 1. THESE CONTACTS ARE SUPPLIED PER REEL. THERE ARE 4,000 CONTACTS PER REEL.
NOTE2 . APPLICABLE WIRE:AWGH22 (0. 3mm2) INSHULATION OUTER DIAMETER: < 1. 5(STRANDED
NOTE3 . PART NUMBER. GUANTITY AS INDICATED.
NOTE4 . THE MARK DEMOTES TYPE OF THE CONTACT AT THE LOCATION SHOWM
“A" |5 FOR SIGNAL COMTACT. AND "B" FOR DETECTED CONTACT (SJ111312)

NOTES . YEAR AND WONTH OF MANUFACTURE SHALL BE SHOWN AT THE LOCATION

(LEFT:ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789XYZ)

EX. 102 —MANUFACTURED IN DEC. 2010

F1. EILEO FRU—ARTHIEEH, 000[PC/Y—L]ETS
2, ERETEMGE220 Jam 2 Y, BEASS] OERETS,
23 BroidEIZfS mEMBsRTIVS

Zda, EBrOEBEOEBZD
: ¥ . B ?5 b- $J111312) DS IIEE BT T 5,
*5. EFOE-N;
{ 7 @ - B 123456780%Y2)

T
S0
i"ir
Er‘-‘
i
Hi
4%

=]
HEHU -
ma s

COPPER ALLODY TIN PLATE —

2 |PAPER TAPE 1

PAPER — —

1 |MAGAZ INE 1

e & 3 S
1] DESCRIPTION ory.

PAPER - -

H H it Lt m n
MATERIAL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright ©

2016, Japan Aviation Electronics Industry, Ltd. 11/15



Part Number

DW1P04K4F2

SJ Drawing

SJ111312

MB-0266-3

9. Pin Contact for Signal Short (for Receptacle)

q =
WOTE4 h
1.5
= !
- e = s | .
-
16.7 o j :-:E
L 12815 A ;-E g
A
|
280 =0
12 o 9.1 1 e 5.7
205203,
3 (=20 lﬂg — &l ! Ll !
=] ¥ ¥ 1 al = vt il -
L \aw! o - i = .\ o
¢ t = 1
J [1.86) MOTES
A
: :_ @
=
= y
|: NOTE3 5
| =
1= =
— & =
% i — 7y =9 1
\ r |
H
— FaN
| |
L
A |
3 [PIN GONTACT 4000 [COPPER ALLOY TIN PLATE -
2 |PAPER TAPE 1 |PAPER - -
1 [MAGAZ INE 1 |PAPER — —
Find £ Eod " H L) H E
)] DESGRIPTION aTy. MATER | AL FIKISH REMARKS
JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 12/15




MB-0266-3

Applicable Board Dimensions (for reference)

Receptacle Side

Drawing from connector installed side 2-$2.8 £0.1
= ~.20 *0.1 @6.1 £0.1
A 0.4 +0.1 z
| R1.5(max) k H
© —$ =
I \\\ﬁ_ﬂ I
™ L | I
[1b) ! (a7 ]
B ‘ 4-R5 +0.5 / = -
| (=]
J N ——1 A F
= [\ 2-6.1 N
= | Panel center Lo
= N | A !
I T
= I I I Se——
+| -
=X 107. 7 +0.3 I
m 124(min) note. 3 ~

Plug Side

©95.3 £0.1
B
o -
M6-screw | %
panel center | | w Z
N S S| F
~
M6-screw I ®
o
}
®7.3 0.1 o —F

N

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 13/15



MB-0266-3

DW2 Serles *Contact is Reel Part Number

Receptacle S|de Pin Contact (Long) for Signal

\Q //% DW1P04K4F1

e

DW1P04K4F2

Connector for Signal
DW2P020

Pin Contact (Short ) for Signal

D253-50570
Spacer (Floating Area)

Receptacle

DW2R002ZH1

Spacer (Floating Area)
D253-50570

Plug Side

Connector A for Signal DW1S04K4F1

DW2R0101 g : Socket Contact
for Signal

Plug
DW2P002ZH1

DW2R0102

Connector B for Signal

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 14/15



MB-0266-3

Technical Documents

Technical Document No. (Document Content)

Product Drawings SJ112004 (DW2 Receptacle)

SJ112005 (DW2 Plug)

SJ112006 (DW2 Connector for Signal Receptacle Side)
SJ112007 (DW2 Connector A for Signal Plug Side)
SJ112008 (DW2 Connector B for Signal Plug Side)
SJ112009 (Spacer)

SJ111310 (DW1 Socket Contact for Signal)

SJ111311 (DW1 Pin Contact Long for Signal)
SJ111312 (DW1 Pin Contact Short for Signal)

Specifications JACS-30188

Handling Instructions JAHL-30188

Crimp Applicator T703488 (for semi-automatic crimping machine)
Handling Instructions *Please contact us regarding automatic crimp tool.
Hand Crimp Tool 7700315

Handling Instructions

Notice:

1. The values specified in this brochure are only for reference. The products and their specifications are subject to change without notice.
Contact our sales staff for further information before considering or ordering any of our products.
For purchase, a product specification must be agreed upon.

2. Users are requested to provide protection circuits and redundancy circuits to ensure safety of the equipment, and sufficiently review the
suitability of JAE's products to the equipment.

3. The products presented in this brochure are designed for the uses recommended below.
We strongly suggest you contact our sales staff when considering use of any of the productsin any other way than the recommended
applications or for a specific use that requires an extremely high reliability.

(1) Applications that require consultation:

(i) rﬁ’Ieasze contact usif you are considering use involving a quality assurance program that you specify or that is peculiar to the industry,
such as:

Automotive electrical components, train control, telecommunications devices (mainline), traffic light control, electric power, combustion
control, fire prevention or security systems, disaster prevention equipment, etc.

(if) We may separately give you our support with a quality assurance program that

you specify, when you think of ause such as:

Aviation or space equipment, submarine repeaters, nuclear power control systems, medical equipment for life support, etc.

(2) Recommended applications include:
Computers, office appliances, telecommunications devices (terminals, mobile units), measuring equipment, audiovisual equipment, home
electric appliances, factory automation equipment, etc.

Japan Aviation Electronics Indusiry, Limited

* The specifications in this brochure are subject to change without notice. Please contact JAE for information.

JAE PMK Div. Proprietary. Copyright © 2016, Japan Aviation Electronics Industry, Ltd. 15/15




